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1) on the graph
2) on the graph
3) (0,572)

4) on the graph
5) on the graph

6) (-2.-1)

7) onthe graph (Y =X - 2)

8) onthe graph (Y =-1/3X +2)
9) (3,1)

10) on the graph (Y =-2X -2)
11) on the graph

12) (-3,4)

13) onthe graph (Y =-1/4 X 4 3)
14) on the graph

15) (0, 3)

16) onthegraph (Y=-12X-1)
17) on the graph

18) (2, -2)
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13C

1) onthe graph
2) on the graph

3)
4)
5)

(-1, 2)
(<3) =-4(1)+b, b=1
Y=<dX+1, 4X+¥Y =1

line a line b
XT3

6)

8)
9)

10)
11)

12)

13)

14)

15)

16)

17)

18)
19)
20)

5-1 -6 3 e
5-5 10 5

(1) =35(5)+b, 1=3+b, b=-2

Y=35X-2, 5Y=3X-10 = -3X +5Y =-10

m= 23
(4) =2/3(4) + b
4-83=b, 483=b

Y=2B3X+4/3, 3Ye2X +4 = 2X+3Y=4

BX-3X+7=4X+8
EX-4X=8-7, X=1

4(Q +3) =4(5 :
ﬂ[+3=}5. t&32

18 -20X =330, Xs= -15% = 153

l-8-4]|-6Y=32+8]| .
12-6Y=4 B8=6Y, Y=113

7:45 0 2:1515 6 1/2 hours
338 +6.5 = 52 mileshour

338 + 13 = 26 mpg
32, 64, 128 (double each number)
8, 13 (add the previous two numbers)

13D

1) on the graph

2) on the graph

3) (4,-1)

4) (1)=-3/2(-1)+b, b=-172

5) Y=-32X-12, 3X+2Y=-1
lineb W Y

-4 -2 . -6
1-(-4) 5
7) (2)=-6/5(-4)+b, b=-24/5

8) Y=-6/5X-14/5, 6X4+5Y=-14

9) m=-473
(-3) = -4/3(2) + b
“1B3=b

m=-68/5 or-11/5

6)

10) Y=-4/3X-1/3, 4X+3Y=-1
11) 16X-8X=56, X=7

12) 3(6A-5)=3(8), 6A-5=8 A=1386=216

13) {1-?3}?-HN+11=—3

14) .

X = 118200 = 59/100 = .59

15) 3+.5A=2A-18
3+5A=20A-18
21 =15A, 21M5=A=16M15=125

16) (4-8)2x6-3x52=7Y
16x6-3x25=7Y
96 -75=7Y
21=7Y, Y=3

17) 6:50 AM to 2:05 PM is 7.25 hours
348 + 7.25 = 48 miles/hour

18) 348 + 14.5 = 24 mpg
19) 36, 49, 64, 81 (count by one and square)
20) 1162, 1/486, 1/1458 (+ previous # by 3)
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